NSN 3510-01-505-5907 AeroBase

Laundry Equipment Control Panel - Page 1 of 1 Group

View Online at https://aerobasegroup.com/nsn/3510-01-505-5907

Accessory Components And Quantity:

Assembly includes control panel tu15250; start switch ea-00619-0; no.8-32 screw m262; 1/4" washer p104; no.8-32 hex nut tu3266;
no.8-32 carriage bolt tu4958; overlay tud0355; led light 24v w 1/4 q.C. Tut316

Panel Material:

Steel

Special Features:

Aluminized 18g steel panel for hd laundry dryer; control panel assembly mechanical coin
Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No

Fiig:

T122-b


https://aerobasegroup.com

